# CVS BEST DEALS (8/4 - 8/10) Savvy Coupon Shopper

# PALMOLIVE 20-32OZ, MURPHY'S OIL 16OZ, FABULOSO 33.8 OZ, SUAVITEL 28.7 OZ, AJAX 28OZ

**BUY 1 GET 1 50% OFF** 

### **BUY 2 GET \$2 EXTRABUCK - LIMIT 1 DEAL**

Buy (2) Palmolive 20 oz Dish Soap (\$4.69, \$2.35) Total comes to \$7.04 Use the \$1.50 Palmolive digital coupon Pay \$5.54 & earn a \$2 ExtraBuck Final cost is \$3.54 for both or \$1.77

# ANY DOVE LIQUID HAND SOAP BUY 2 GET \$2 EXTRABUCK

Buy (2) Dove Liquid Hand Soap \$4.99 each Total comes to \$9.98 Use the \$3.99/2 Dove hand soap digital coupon Pay \$5.99 & earn a \$2 ExtraBuck Final cost is \$3.99 for both or \$1.99 each

# ANY SUAVE HAIR CARE OR DEODORANT BUY 1 GET 1 50% OFF BUY 2 GET \$2 EXTRABUCK (LIMIT 1 DEAL)

Buy (2) Suave Essential Shampoo/Conditioner (\$2.89/\$1.44)
Total comes to \$4.33
Use the \$1/2 Suave product digital coupon
Pay \$3.33 & earn a \$2 ExtraBuck
Final cost is \$1.33 for both or 67¢ each

# SCOPE 1 LITER, SQUEEZE 50ML, CREST PRO HEALTH MULTI PROTECTION 500ML OR PRO HEALTH 1 LITER \$4.99 BUY 1 GET \$3 EXTRABUCK

Buy (1) Scope 1 Liter Mouthwash \$4.99 Use the \$1/1 Scope Mouthwash digital coupon Pay \$3.99 & get a \$3 ExtraBuck Final cost is 99¢

# NEUTROGENA ACNE CARE SPEND \$10 GET \$4 EXTRABUCK (LIMIT 1 DEAL)

Buy (1) Neutrogena Acne Blemish Patches \$10.79 Use the \$4/1 Neutrogena Acne digital coupon Pay \$6.79 & earn a \$4 ExtraBuck Final cost is \$2.79

# IRISH SPRING/SOFTSOAP BODY WASH BUY 1 GET 1 40% OFF BUY 2 GET \$3 EXTRABUCK - LIMIT 1 DEAL

Buy (1) Irish Spring Body Wash \$6.99 Buy (1) SoftSoap BodyWash \$3.95 (40% off) Total comes to \$10.94 Use the \$2/1 Irish Spring digital coupon Use the \$2/1 SS digital coupon Pay \$6.94 & get a \$3 ExtraBuck Final cost is \$3.94 for both or \$1.97 each

# ANY COVERGIRL COSMETICS BUY 2 GET \$5 EXTRABUCK - LIMIT 1 DEAL

Buy (2) Covergirl Eye cosmetics \$5.79 each Total comes to \$11.58 Use (2) \$3/1 CoverGirl Eye coupons 8/4 Save Insert Pay \$5.58 & get a \$5 ExtraBuck Final cost is 58¢ for both or 29¢ each

# OGX, MAUI, AVEENO, NEUTROGENA HAIR CARE BUY 1 GET 1 50% OFF

### BUY 2 GET \$4 EXTRABUCK - LIMIT 1 DEAL

Buy (2) OGX Shampoo/Conditioner (\$9.29, \$4.65) Total comes to \$13.94 Use the \$3/2 OGX digital coupon Pay \$10.94 & get a \$4 ExtraBuck Final cost is \$6.94 for both or \$3.47 each

# NEXXUS HAIR CARE - SHAMPOO/CONDITIONER/STYLERS SPEND \$20 GET \$10 EXTRABUCK

Buy (2) Nexxus Kerphix Shampoo/Conditioner \$18.99 each Total comes to \$37.98
Use the \$5/\$25 Hair Care crt (I received it via email)
Use the \$10/2 Nexxus digital coupon
Pay \$22.98 for both & get a \$10 ExtraBuck
Final cost is \$12.98 for both or \$6.49 each

# **BOOST DRINKS**

#### **BUY 2 GET \$6 EXTRABUCK - LIMIT 1 DEAL**

Buy (2) Boost Original 6-packs \$11.99 each Total comes to \$23.98 Use the \$6/2 Boost digital coupon Pay \$17.98 & get a \$6 ExtraBuck Final cost is \$11.98 for both or \$5.99 each

# SPEND \$30 EARN \$10 EXTRABUCK SCENARIO - LIMIT 1 DEAL BUY THE FOLLOWING:

- (2) Loreal Elvive Shampoo/Conditioner \$4.99 each
- (1) Venus Smooth Razor \$7.99
- (1) Gillette Mach 3 Razor \$7.99
- (1) Select Crest Toothpaste \$3.99
- (1) Kelloggs Pop Tarts \$1.99

Total comes to \$31.94

### **USE THE FOLLOWING:**

\$4/2 Elvive digital coupon

\$3/1 Venus Razor digital coupon

\$3/1 Gillette Razor digital coupon

\$2/1 Crest digital coupon

Deducts: -\$12

# Pay \$19.94 & get a \$10 ExtraBuck Final cost is \$9.94 for all 6 items or \$1.65 each

# \$10 OFF \$70 SCENARIO:

### **BUY THE FOLLOWING:**

- (2) Loreal Elvive Shampoo/Conditioner \$4.99 each
- (1) Venus Smooth Razor \$7.99
- (1) Gillette Mach 3 Razor \$7.99
- (1) Select Crest Toothpaste \$3.99
- (1) Kelloggs Pop Tarts \$1.99
- (1) Scope 1 Liter Mouthwash \$4.99
- (2) CoverGirl Eye cosmetics \$5.79 each
- (2) Dove Liquid Hand Soap \$4.99 each
- (1) Irish Spring Body Wash \$6.99
- (1) SoftSoap BodyWash \$3.95 (40% off)
- (2) Suave Essential Shampoo/Conditioner (\$2.89/\$1.44)

Total comes to \$73.76

### **USE THE FOLLOWING:**

\$10 off \$70 Coupon

\$4/2 Elvive digital coupon

\$3/1 Venus Razor digital coupon

\$3/1 Gillette Razor digital coupon

\$2/1 Crest digital coupon

\$1/1 Scope digital coupon

(2) \$3/1 Covergirl Eye coupons 8/4 Save Insert

\$3.99/2 Dove Hand Soap digital coupon

\$2/1 Irish Spring digital coupon \$2/1 SS digital coupon \$1/2 Suave digital coupon Deducts: -\$37.99 Pay \$35.77 & earn the following:

\$10 ExtraBuck for Spend \$30 deal

\$3 ExtraBuck for Scope

\$5 ExtraBuck for Covergirl

\$2 ExtraBuck for Dove Hand Soap

\$3 ExtraBuck for Irish Spring/SS

\$2 ExtraBuck for Suave

Final cost is \$10.77 for all 15 items or 72¢ each

#### CVS UNADVERTISED DEALS

### BLUE STAR, SARNA, STING KILL & CHIGGEREX BUY 1 GET \$5 EXTRABUCK

Buy (1) Chiggerex Bug Ointment \$5.99 Pay \$5.99 & earn a \$5 ExtraBuck Final cost is 99¢

## NIVEA MEN SHAVE PRODUCTS BUY 2 GET \$7 EXTRABUCK

Buy (2) Nivea Sensitive Shave Foam 7 oz for \$5.99 each Pay \$11.98 & get a \$7 ExtraBuck Redeem to Ibotta for (2) .75/1 Nivea Shave rebates Final cost is #3.48 for both or \$1.74 each

# GROVE LIQUID HAND SOAP BUY 2 GET \$3 EXTRABUCK

Buy (2) Grove Liquid Hand Soap \$4.59 each Pay \$9.18 & earn a \$3 ExtraBuck Final cost is \$6.18 for both or \$3.09 each

# FAIRY TALES HAIR PRODUCTS BUY 2 GET \$8 EXTRABUCK

# NIVEA LIP BALM - EXCLUDES ROSE LIP BALM BUY 2 GET \$3 EXTRABUCK

Buy (2) Nivea Lip Balms \$4.29 each Pay \$8.58 & get a \$3 ExtraBuck Final cost is \$5.58 for both or \$2.79 each

# WET N WILD COSMETICS SPEND \$12 GET \$6 EXTRABUCK

(Products \$10 & under)

# JOAH COSMETICS SPEND \$12 GET \$4 EXTRABUCK

### HASK HAIR MASKS & VIALS 2 FOR \$4 BUY 4 EARN \$2 EXTRABUCK

Buy (4) Hask Hair Masks/Vials 2 for \$4 Pay \$8 & get a \$2 ExtraBuck Final cost is \$6 for all 4 or \$1.50 each

## PURELL 2 LITER HAND SANITIZER BUY 1 GET \$5 EXTRABUCK

Buy (1) Purell 2 Liter Hand Sanitizer for \$19.99 Pay \$19.99 & get a \$5 ExtraBuck Final cost is \$14.99

# POLIDENT & POLIGRIP PRODUCTS BUY 1 GET \$3 EXTRABUCK

Buy (1) 3 Minute Cleanser \$4.69 Pay \$4.69 & get a \$3 ExtraBuck Final cost is \$1.69